. Indices

Simp]ify the following:

Question 1
(@) n*xn = (b) y¥xyxyd = (e)
6
d pixp’ +pt = (e) — = )
m
(g) Mdxbn’ = () xtyixaByd = (1)
vvy 7 S
2 7
D (4pe®) = (k) -‘Ling—xgﬁ— = )
m
Juestion2  Simplify the following:
a) ( 1147 y3 212 )2 = (b) atxa®+ab = (e)
d mB+mbemd= (e) 15m® p* x 6m? p3 + 10mp 63
548 pl2 b
) P q - p4 q
p4q
) 2m*n” x 12mn? 1)
6m?n*
Juestion 3 Simplify the following:
a) 3*x3% = (b) 5*x5l = ()
d) 8%+ 8y = (e) 25n 22n+1 —_ (f)
5 3nt (a+b) (a+b)
y I _ h N _ ]
g 12n2  2m? () 21 325 ®

323 x 4x7
23 x 2.

2122t xx? =

485948+ 6xty +4xyd =

15x9% y x 8xy1l
4x3y8x 322y

UL 5m+1 —

gdm+1l, g8m-2 _

m6(m2f5) n®(n-3)

m(m2+5)3
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Juestion 4 Simplify the following and express in positive index form:
a) a3xab = b)) 2'xx8 = -
d) (2p‘4 )_3 -= (e) 3x2xx7 =
Juestion 5 Evaluate the following without using a calculator:
1 2
a) 16% = (b) 83 =
4 1y
d) 1253 = (e) (92) =
-3 3
g 16 1 = (h) 325 =
‘7 Quésﬁon 6 Simpﬁfy the fo]lowing:
57 . 51
(a) pEng = (b) m# +mt =
3 3 _x _5 1
(d) 2pix6peE+3p & = () mée+ms =

(@ (320 >§

— '(h)‘(m9n6)§=

Question 7 Evaluate the following without using a calculator;
1 . 1
(a) 625% = (b) 2435 =
_2 1
(d) 64 3 = (e) 7293 =

M) (0216)F =

4
32 y'5
(k) (%) -

@ (v

) 5a?b1x3q 38 =

i

f 2572 =

1
(i) 2163

(e) 12n2 +3n

1 6
® (GEJ =

i) (8a12

(¢) 1000

1
3

® (025)2 =

3

M ( 64




Question 8

(a) a? (a3+2) =

(d) 5p*(2p*-3p) =

(g (a3+ 1>(a3— 1) =

FExzpand and si;nplify the following:
(b) x2 (xz - 5) =

(¢) n? (n3 + 3n) =

(e) xz(Zx?’— 3y2) =

® Tmn(5m?+2n) =

(h) (x2+3)(x2— 1)

= @ (3m?-n?)(2m?+5n?)

Question 9 2_ a2
(a) Express m~1+n~! as a single fraction (b) Simplify _______2—3’_2
without negative indices. oY
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